TAYLOR SERIES
Does a,, = lej{r —a)"? —YES

n!

_ YES Z::;U On — f(I)
Y

Is x in interval of convergence?

Taylor Series: Let f be a function with derivatives of all orders throughout some intervale
containing @ as an interior point. Then the Taylor series generated by f at @ is
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The remaining terms after the term containing the 7th derivative can be expressed as a
remainder to Taylor’s Theorem:
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Lagrange’s form of the remainder: | f (x)— P, (x)|=| Ryx|=
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.Where g < ¢ < x.
The series will converge for all values of X for which the remainder approaches zero as
X—w0.



